Lecture 6-QM_II (17/07/00)

Saturday, October 9, 2021 2:14 PM

$$S = (S_{k}, S_{y}, S_{z})$$

$$[S_{i}, S_{j}] = i G_{ijk} S_{k}$$

$$[S_{i}, S_{j}] = k^{2} S_{i} S_{i}$$

$$[S_{i}, S_{i}] = k^{2} S_{i} S$$

 $1 = \frac{1}{2}, m_s = +\frac{1}{2} = 1$ $15 = \frac{1}{2}$, $m_s = -\frac{1}{2}$ = 14 $\Rightarrow = \frac{1}{2}$

$$|S = \frac{1}{2}, \quad m_S = -\frac{1}{4}\rangle = |V\rangle \stackrel{!}{=} \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$S_0 | f \rangle = \frac{1}{2} | f \rangle \qquad S_{0} = \frac{1}{2} G_{0}$$

$$|f \rangle = \begin{pmatrix} a \\ b \end{pmatrix} \qquad G_{0} = \begin{pmatrix} a \\ b$$

```
13/= 9+11/+ 9-17/
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         لعراقا 0
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                      C_n = \langle n | 14 \rangle^{-1}
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                             \sum_{n} |c_{n}|^{2} = 1
S_{1} \uparrow \rangle = \frac{\pi}{2} |\uparrow \rangle
                              d+ = <1137
                                ~ = < V (S>
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                14+12
                                                    \langle \uparrow | s \rangle = \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
= \alpha_{+} \langle \uparrow | \uparrow \rangle + \alpha_{-} \langle \uparrow | \downarrow \rangle
                                                      \langle \psi | s \rangle = \alpha_{+} \langle \psi | \uparrow \rangle_{+} \alpha_{-} \langle \psi | \downarrow \rangle_{=1} = \alpha_{-} \rangle
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                      S= 11>=- + 10>
                                                                                                                                                                                                 |\alpha + |^2 + |\alpha - |^2 = 1
                                                         \langle s | s \rangle = 1 = \left( \alpha_{+}^{*} \langle \uparrow | + \alpha_{-}^{*} \langle \downarrow | \right) \left( \alpha_{+} | \uparrow \rangle + \alpha_{-} | \downarrow \rangle \right)
                                                                                                                                                                                                                             = |\alpha + |^{2} \underbrace{\langle 1 | 1 \rangle}_{=1} + |\alpha - |^{2} \underbrace{\langle \psi | \psi \rangle}_{=1} + 0
1 = |\alpha + |^{2} + |\alpha - |^{2}
                                                                                      14>= \( \in C_n \) (1) \( \text{\sigma} \) \( 
                                                                       2 |n> <n| = 1
                    \frac{2}{2} \cdot \left\langle n \right| \frac{4}{2} = C_n \qquad \frac{2}{2} \qquad |4\rangle = \frac{2}{n} \qquad |n\rangle \left\langle n \right| \frac{4}{2} \times \frac{2}{n}
                                                                                                                                                                                                                                                                                                                                                                                                                                                                 1 = \sum_{n} |n\rangle\langle n|
                                                                                                              |s\rangle = \alpha_{+} |t\rangle + \alpha_{-} |t\rangle \alpha_{+} = \langle 1|s\rangle
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                              d- = <115>
                                                                                                                            15> = 17><1/5> + 14><615>
                                                                                                                                   1 = |+><+ |+ |+><|
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         3
                                                                                                                                                                                                          \frac{i}{e} \vec{\varphi} \cdot \vec{S} = \mathcal{U}
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                  \vec{\varphi} = \vec{\varphi} \hat{n}
                                                                                                                                                                               [\vec{S}, \vec{x}] = 0
                                                                                                                                                                                          \begin{bmatrix} \vec{S}_{l} & \vec{p} \end{bmatrix} = 0
\begin{bmatrix} \vec{S}_{l} & \vec{L} \end{bmatrix} = 0
                                                                                                   | \Psi \rangle = \int d^{3}x' C_{\vec{x}'} | \vec{x}' \rangle \qquad = 1
\frac{\psi(\vec{x})}{\psi(\vec{x})} = \langle \vec{x} | \psi \rangle = \int d^3x' C_{\vec{x}'} \underbrace{\langle \vec{x} | \vec{x'} \rangle}_{\delta(\vec{x} - \vec{x}')} = C_{\vec{x}}
                                                                                                                             | \Psi \rangle = \int d^3 x' \quad \Psi(\vec{x}') \quad | \vec{x}' \rangle \qquad \Rightarrow \vec{x} = \vec{x}
```

$$|\vec{x}'\rangle \otimes |\uparrow\rangle$$

$$|\vec{x}'\rangle \otimes |\uparrow\rangle$$

$$|\vec{x}'\rangle \otimes |\downarrow\rangle$$

$$|\vec{x}'\rangle \otimes |\downarrow\rangle$$

$$|\vec{x}'\rangle \otimes |\downarrow\rangle$$

$$|\vec{x}'\rangle \otimes |\downarrow\rangle$$

$$|\downarrow\rangle = \int d^{3}x' \quad (\downarrow_{+}(\vec{x}') \quad |\vec{x}'\rangle \otimes |\uparrow\rangle + \downarrow_{-}(\vec{x}') \quad |\vec{x}'\rangle \otimes |\downarrow\rangle$$

$$|\downarrow\rangle = \int d^{3}x' \quad (\downarrow_{+}(\vec{x}') \quad |\vec{x}'\rangle \otimes |\uparrow\rangle + \downarrow_{-}(\vec{x}') \quad |\downarrow\rangle \otimes |\downarrow\rangle$$

$$|\downarrow\rangle \otimes |\downarrow\rangle \otimes \otimes |\downarrow\rangle$$

$$|\downarrow\rangle$$

$$|\downarrow\rangle \otimes |\downarrow\rangle$$

$$|\downarrow\rangle$$

$$\begin{cases} \langle \uparrow | \langle \vec{x} | \Psi \rangle = & \psi_{+}(\vec{x}) & \langle \uparrow | \uparrow \rangle + \psi_{-}(\vec{z}) & \langle \uparrow | \downarrow \rangle = \psi_{+}(\vec{z}) \\ \langle \psi | \langle \vec{x} | \Psi \rangle = & \psi_{-}(\vec{z}) & = \psi_{-}(\vec{z}) \end{cases}$$

$$\mathcal{H} = \mathcal{L}_{2}(\mathbb{R}^{3}) \otimes \mathbb{C}^{2}$$